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" SECTION —A

- Answer all questions. Each question c:a.rrie‘s'1 mark. |
1. Name the two kinds of stét-isfical 'data a‘ncll mention the sources of them.
2, Whét is meaht by tabulation of da@?
3.  Explain the advantages of diagrammatic represe_ﬁfaﬁoﬁ of data,

4, What ére the important graphic presentlatior_ls of sta’tistfcal déta‘?

5. Define population and san'lq.p!e.l

6. Define central tendency.

7. Which measure of dispersion do you think most important? Justify.

P.T.O.



8.

9.

10.

What do you mean by the moments of a data set?

Define scatter diagrams.

What do you mean'by correlation?

(10 x 1 =10 Marks)

SECTION - B

Answer any. eight questions. Each question carries 2 marks.

11.
12.
13.
14,
15.
1/6.
7.
18.
19:
20
21

225

Define coefficient of va’ri_étion.

Define skewness of a data. .

What are the important types'of clasé_iﬁcati_or] of a data?.

Discuss _the_'advamagé's' of sga'mpl'in‘g"' over. cén.-gu-s.-

I;I}_isti\nig_'ﬁish Eeméen-prébé‘billity sampling and non-probability sampling.
Deﬁne str'éfiﬁed-random' sampling. |
What do you mealn by @Iative and cumulative frequency distributions? |

What are the important measures of central téndency?

-W_Hat are the merits a'hq__'gieme'r_it;s of Arithmetic r_ﬁean?

What are the desirable properties of a good measure of dispersion?

46

What do you mean by curve fitting?

Define regression analysis.

(8 x 2 =16 Marks)
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SECTION - C

Answer any six questions. Each question carries:4 marks.

238

24.

25

26.

27

28.

29.

30.

31,

What are the points to be re'mer'nBefed'-While pﬁaparing a queStiohnaire? -

' Define simple random sample Explam any. method of selectrng a SImple random
sample. . S :

' Establish the relationship between A.M, GM and H.M,

Prove that S.D cannot be Ieas ’than the M.D"from-t'he mean.

If the first four moments of a distribution about 4 are 1 4:10and 45, fnd the mean

and the ﬁrst four central moments
Define kurtosis. What are thelimpqrtant_i‘m'eaau;rea of kurtosis?

Exp’lain.'fhe-hrihcfple of l,ea'st'sahares |n Cu'r\ir'é 'ﬁﬂ'i;r_ﬁ]g’_tb_ﬁt' y ,:_ab."f_. _

Why there are - two regressmn lines whlle analysmg a bivarlate data? When do: :

they colnclde’?

Deﬁne ihe Karl F-'earson s coeﬁ" c:ent Df correlatlon What does it indi‘ca_t'e_:- _when :

the: vaiue of thls coeﬂ" CJent is zero'?

(6 x 4= 24 Marks)

Answer any two questlons Each questlon carnes 15 marks

32. (a) Descnbe the constructlon of a P:e chart to a data
(b) - Draw an ogwe and hence f' nd the medlan from the data of marks of 140
students '

Marks ~ 10-19 20-29 30- 304049 50-59 60-69 70-79 80-89 90-99

No:OF stuidfietsdiai 7 6L AR GIHDER LB o0 B Ly s
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33.

34.

395.

(@) The following data gives the frequency distribution of the wages of 72
labours in a factory. Find the mean deviation about the mean and the
coefficient of M.D.

Wage: 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 45-50
Labotps:: 2" 28 9. | 148 4 6 1=

(b) Calculate the quartile deviation for the following data of annual income of
families in thousands of rupees.

Income : <499 500-099 1000-1999 2000-2999  >3000
Nowoffamilies ;- 6" 25 (o 40 1] o0 2080 <10

(@) Flnd the correlation coefficient: between X and Y from the following data.
' X2 8455, 6508

\’.45689710

(b) What are the different types of correlauon’? D:scuss the Spearmanns
coeff cient of correlation. <

(a) ln a bivariate study the lines of regressmn of Y on X and that of X on Y are
given: Write the procedure to ldentn‘y them. -

(b) : To study ‘the effect of rain on y|eld of wheat, the following results were
- obtained. Estimate the yield when the rainfall is 80 mches of

, Mean S.D
Yield in pounds : 800 < 12 .-
Ralnfall in mches 30 2

cas The correlatlon co eff cientr=0.80 PO S
' - " (2x15 = 30 Marks)
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